> M % A it 1 B B
A | HALTHIOD NAAR F | 2355-00-11-2

e BETEEEN 4t

TEREINBSE 9A

B4
EFREEREFRGAR) Witk ik B R AL E M
Gl : MR TR e EY T
ﬁ\él_-g s 2 2 A i 5 S| 2
sst RAFE AR DU 4 F A REECRIE LA RS AR AR (BRE)EH 2R s
7 3K S
ERA|\ A |EAAIZLA| KA | AR | AA (EAA|ELA| AR | AR |EAA|ZLA| RA | AR | 2R [ 28 [ A8 | 28 || #|sizs
Bk B8 |BRE|RAKR| EREERIRIUE SR RS A MBS RS R RS ARt Bk [smalmnnlrme "o
ERE| T --‘=@¥i EEH HEB e 5| a2 HEHR Q= | @n=
LI B T2 @ | e |6 o[ 8o a[a [0 a)y|a | as | 0O | an | ag | a9 || tsew |rsen| @
=(3)+(8) L144015) =(@)+(5) =(9)-(10) =(13)-(14) =(17)-(18) +22) +(22)
B A5 \FUDH1O) [rigyriidy | 61D -1 A5 19
1 | 3052 - - - - - —| 3021 3021 —~ - - - - - 3] 3] - - 28 - ~
28 | 3061 - - ~ - - —| 3021 3,01 - - 31 31 - - 9 9 - - 28 - -
38 | 3010 - - - - - —| 302 302 - — 40| 40 - - 9 9 - - 28 - ~
4R | 3074 1 — - - - —| 301 301 ~ - 43 49 - 1| s 5 - - 28 - -
58 | 3084 - - - - - —| 3021 30 - - 53] 53 - - 10 10 - ~ 30 2 2
68 | 3088 1 ~ ~ - - —| 3021 3,021 - - 62 6 - 1 5 5 ~ - 31 3 1
A 3,098 3 - - = = —| 3021] 3,021 = = 64 67 == 3 13 13 — — 32 4 1
8AH 3,105 2 - — — — =1 3,021] 3,021 = = 75 T7 = 2 9 9 — — 32 4 =
94 3,107 2 — - - = —1 3,021 3,021 = — 82 84 = 2 4 4 e - 32 4 =
104 - - - — - - - - - — - — - - - - - - - - - —
118 - - - - - - - - = ~ - = - - - - - - - - - -
128 - - - - - - - - - - - = - - - - - - - - - B
i
Mk Fi EHEEAR BHEE
Emsmst AR
THRRR D RIBEESBOTBAFRRR(TERF SR T RS ESRE | FRMETHES - .9k, i
BRI C 1 ARBULE BRI + GRS R)E » 113 B 75 + 3 4 448 T 4038 0% 9 5 S0 B 52 B 51 R « AElarLls 58 Tiedodll 3
2MBFRRUMEABFRUZ TE L ARSARRE (9), | RALAFEIMAKY  BESHBE FE128 K2 (8)+(12)+(16)
B AEERAREEMITAN T E L ARSRAERE (1), BEARZ2H6) B Eint A T0, o
4. TARERY, C GEASHETREELY .
6. TAFERVEARRSEEME, | GAERESARRABEAMUSN  BEEHUELAHHBE LMY -



